
6710 DW Cymbal Stand

2005

12345  6789 10 11 12

 SP917

 SP432

SP2007

 SP2080

SM488

rums

Worksh

op, 
in

c.

20
05

SP487

SP711

SP2020

SP711

SP353

SP065

SP065

SP065

SP422
SP509

SMQTH

SP431

SM029

Part Number  Description
DWSMQTH    QUICK TURN HANDLE FOR CYM TILT 5/16X3/4
DWSM029    3/8" DRUM KEY SCREW (4 PACK)
DWSP065    RUBBER FOOT
DWSP353    8MM DW WING SCREW
DWSP422    1-1/8" STEEL WASHER
DWSP431    TILTER ASSEMBLY
DWSP432    CYMBAL SEAT FOR TILTER ASSEMBLY
DWSP487    5/8" MEMORY LOCK
DWSM488    PAIR OF TOP AND BOTTOM FELTS W/ WASHER
DWSP509    RATCHET BOLT WASHER
DWSP711    SET SCREW
DWSP917    DRUM KEY SCREW
DWSP2007    8MM WING NUT 
DWSP2020    3/4" MEMORY LOCK
DWSP2080    BLACK PLASTIC CYMBAL SLEEVE   

  
  

    

6710 DW Cymbal Stand



6710 DW Cymbal Stand

2005

12345  6789 10 11 12

 SP917

 SP432

SP2007

 SP2080

SM488

rums

Worksh

op, 
in

c.

20
05

SP487

SP711

SP2020

SP711

SP353

SP065

SP065

SP065

SP422
SP509

SMQTH

SP431

SM029

Part Number  Description
DWSMQTH    QUICK TURN HANDLE FOR CYM TILT 5/16X3/4
DWSM029    3/8" DRUM KEY SCREW (4 PACK)
DWSP065    RUBBER FOOT
DWSP353    8MM DW WING SCREW
DWSP422    1-1/8" STEEL WASHER
DWSP431    TILTER ASSEMBLY
DWSP432    CYMBAL SEAT FOR TILTER ASSEMBLY
DWSP487    5/8" MEMORY LOCK
DWSM488    PAIR OF TOP AND BOTTOM FELTS W/ WASHER
DWSP509    RATCHET BOLT WASHER
DWSP711    SET SCREW
DWSP917    DRUM KEY SCREW
DWSP2007    8MM WING NUT 
DWSP2020    3/4" MEMORY LOCK
DWSP2080    BLACK PLASTIC CYMBAL SLEEVE   

  
  

    

6710 DW Cymbal Stand


